Name: Period:
Combining Linear Functions Notes

foy =x-2 g(x) =2x+3 Add: h(x) = flx) +g(x)

If | subtract f(x) and g(x) to get h(x) | predict the
graph of h(x) will be: K= DA\

Graph h(x) below When you add two linear equations together, the

outcome is:

\ine o

Fill in the rest of the table. What do you notice?
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J)=x-2 g(x)=2x+3 Subtract: h(x) = f(x) - g(»)

If | subtract f(x) and g(x) to get h(x) | predict the

graph of h(x) will be: A(x) mamsaniass 6

Graph #(x) below When you subtract two linear equations, the outcome
is:

lineae .

Fill in the rest of the table. What do you notice?
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Jx) =x-2

g(x) = 2x+3

If | multiply f(x) and g(x) to get h(x), | predict the

graph of i(x) will be:

Multiply: 71(x) = f(x) - g(x)

h(x) = QYVJ—- ¥ -b

Graph h(x) below

When you multiply two linear equations together, the
outcome is:

o quodranic

Fill in the rest of the table. What do you notice?
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f@)=x-2

g(x)= 2x+3

If | divide f(x) and g(x) to get h(x), | predict the graph

of h(x) will be:

Divide: h(x) = f(x) = g(x)
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Graph A(x) below

When you divide one linear equation by another, the
outcome is:
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